
Name: LösungsschlüsselVon der numerischen zur ausgeweiteten Form

Mathe www.CommonCoreSheets.de 8 1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Wandle jede Zahl in die ausgeweitete Form um.

Bsp) 65,8 6•10+5+(8•1⁄10)

1) 6,184 6+(1•1⁄10)+(8•1⁄100)+(4•1⁄1000)

2) 35,6 3•10+5+(6•1⁄10)

3) 2,455 2+(4•1⁄10)+(5•1⁄100)+(5•1⁄1000)

4) 64,6 6•10+4+(6•1⁄10)

5) 6,3 6+(3•1⁄10)

6) 88,125 8•10+8+(1•1⁄10)+(2•1⁄100)+(5•1⁄1000)

7) 3,5 3+(5•1⁄10)

8) 145,8 1•100+4•10+5+(8•1⁄10)

9) 82,81 8•10+2+(8•1⁄10)+(1•1⁄100)

10) 117,833 1•100+1•10+7+(8•1⁄10)+(3•1⁄100)+(3•1⁄1000)

11) 82,777 8•10+2+(7•1⁄10)+(7•1⁄100)+(7•1⁄1000)

12) 16,211 1•10+6+(2•1⁄10)+(1•1⁄100)+(1•1⁄1000)

13) 91,86 9•10+1+(8•1⁄10)+(6•1⁄100)

14) 4,322 4+(3•1⁄10)+(2•1⁄100)+(2•1⁄1000)

15) 553,679 5•100+5•10+3+(6•1⁄10)+(7•1⁄100)+(9•1⁄1000)
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